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A bacteria culture growing in a medium containing '*NH, Cl is switched to a medium containing ™
NI Cl for three generations (Resulting into eight fold increase in its population), what 1s the molar
ratio of hybrid DNA (*N- " N) to light DNA (™ N- ¥ N) at this point?
a. 2/6 b3/5
c. 4/4 d. 1/7

In methyl-directed mismatch repair in E. coli the daughter strand containing the
mismatched base is nicked by:

a. Mut H- endonuclease b. Uvr ABC - endonuclease

c. AP- endonuclease d. 3’ to 5’ exonuclease

Assertion: The two chains of DNA have anti-polarity.
Reason: In one chain of DNA, deoxyribose sugar at 5 end consists of a free phosphate moiety
while at the other end the ribose has a free 3' OH group.

a. If both Assertion and Reason are true and b. If both Assertion and Reason are true but
Reason is the correct explanation of Reason is not the correct explanation of
Assertion Assertion

¢. [If Assertion is true but Reason is false d. If both Assertion and Reason are false

Nucleotide excision repair of DNA in E. coli:

a. Replaces both strands of the DNA in b. Uses high energy phosphate bond
the damaged region

c. Ulilizes RNA polymerase to make a d. Require uvrABC exonuclease
primer

Which of the following, is 1ot a component of the transcription initiation complex in
eukaryotes?

a. TATA-binding protein (TBP) b. Transcription factor 1B (TFIIB)
c. Transcription factor ITH (TFIIH) d. Sigma factor

The unusual nucleotide added to the 5' end of hnRNA during processing is:

a. Methyl guanosine triphosphate b. Poly(A) tail

¢. Ribosome binding site d. 5'cap

Which initiation factor in prokaryotes blocks the A site of the 30S ribosomal subunit,
allowing only the P site to be available for the initiator tRNA?

a. IF-4 b. IF-2

c. IF-1 d. IF-3

Assertion(A): The genetic code is degenerate
Reason(R): Most amino acids are coded by more than one codon.

a. Both A and R are correct and reason b. Both A and R are true but R is not the
is the correct explanation of assertion correct explanation of A
c. Il Ais true and R is false d. If both A and R are false

Assertion: There is single DNA-dependent RNA polymerase that catalyses transcription of
all types of RNA (mRna, tRna and rRna) in eukaryotes.
Reason: In bacteria, there are at least three RNA polymerases are required.

a. Both assertion and reason are true b. Both assertion and reason are true but
and the reason is the correct reason is not the correct explanation of
explanation of the assertion the assertion

¢. Assertion Is true but reason is false d. Both assertion and reason are false
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A researcher is testing a new
enzyme in the pathway. They o
significant increase in the concen
Which enzyme is most likely being
a. Hexokinase

c. Phosphofructokinase-1

How does the TCA cycle contribute to the all bic r¢
a. It produces ATP directly through , y ] s to the electron
substrate-level phosphorylation ugh reduction ol

¢. Itsynthesizes glucose through the d.
process of gluconeogenesis

- The fatty acid is completely converted b.
into acetyl-CoA

¢. The fatty acid chain is lengthened by~ d. O
two carbon atoms and converted into
a triglyceride

Which of the following statements accurately desdri%@
a. It converts ammonia to urea, whichis b. |
less toxic and more water-soluble for
excretion £ N -
c. It breaks down urea into ammonia d. Itco  ure mino acids fol
and carbon dioxide to provide energy esis

What is a primary function of the pentose phospha P) in cellular

metabolism? y A £

a. It primarily generates ATP through b. cose into two molecules
substrate-level phosphorylation S

c. Itis the main pathway for the d. %& wwides NADPH and pentoses for
synthesis of cholesterol and other 2 tions

sterols “r fia






